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Answer1
/EcTorRS
Diagram NOT
accurately drawn
PORS is a parallelogram. g —2 9 —2
N is the point on SQ such that SN : NO %3 : 2 [\)& = —S8&
—> >
PO=a
%
PS =b
%
(a) Write down, in terms of a and b, an expression for SQ.
== =2 o2
g@:g?-f-fdz = —b +a ?zﬁ.—b
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Answer 2

OAB is a triangle. _ -2
P is the point on 4B such that AP: PB=5:3 — 7 A’P —‘5 * Pc@

OA=23
OF =2b

%
OP = k(3a + 5b) where £ is a scalar quantity.

Find the value of k. v
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Answer 3

The vector a and the vector b are shown on the grid.

va
6
b
a
4
)
0 2 4 6 3 b:

(a) On the grid, draw and label vector —2a Twice As Lons & Bue

I[N O PPoSITE DirezaigN)
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Answer 4

%
(b) Express NR in terms of a and b.

CI_Q—B\ :r\)% ~+ 5(%

//‘_\
= 3*(&*19) + b
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Answerb

P is the point on AB such that AP:PB=3:1

(b) Find OP in terms of a and b.
Give your answer in its simplest form.

—> —> —
OFY = OA + AP
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Answer 6

B
Vectors s
_ P
b Diagram NOT
accurately drawn
5
) —
0] 'r; A A(P = %x }d( g
OAB is a triangle.
Od =a
OB=b
(a) Find A_é in terms of a and b.
—> ~3 —
= ek wf b _a
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Answer 7

(b) Work out a +2b as a column vector.

) (
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